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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘C’ can
be represented by 01, 85, etc., and ‘U’ can be represented by 20, 97, etc.
Similarly, you have to identify the set for the word “GEEK”.

T Qe Dhael Th WEI-HHp GRT o1 IR &, otar 6 fweut & @
et e 3 G ¥ fadeut * BU wv dEwT-weE IR & gr aut
ERT GRifT a7 §, Siar 6 U v o aneggl & &1 Inege & Tad IR
Ui T §EA1 0 8 4 § 3R WS H 5 & 91 3 IRl § TH MR
P Ugel sad Ufh AR A # TOEH FEIT gRT GRIAT ST AHAT B
3EIRA0T & fow «C’ @Y 01, 85, A1TG R AT ST Fehal & AT ‘U’ H 20,
97, MG gRT AT ST Wbl 1 W e & Iud us HA QU g
“GEEK” & fau Wap ' ugaEdr &l

Matrix-I Matrix-li

g 3rge-l
0[1]2(3]|4 5(6|7(8]9
O|Y|C[W[G]| I S5|X|K[D|F|[R
1|E|IM|O|Q]|S 6 |G|W[N|H|V
2|U|W[Y|B|A | ELO] ¥ ] L
3|F|H|G|L|N 816 F|1|L|E
4|/DIR[T|V]|O 9|K|[S[U[N|P

Options:
1) 32, 01, 89, 56

2) 03, 89, 10, 33
3) 65, 10, 75, 95

4) 58, 75, 59, 56
Correct Answer: 65, 10, 75, 95
Candidate Answer: 65, 10, 75, 95

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3R HIFAA A ¥ 3@ I AP B gaw
o & uy gl AT &
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Options:
1)

D

2)

3)

4)

poxd| I o] I ==
NIV AN | |\ 7

Correct Answer:

P04
W

Candidate Answer:

D

QID : 105 -
Which answer figure will complete the pattern in the
question figure?

<X

Pl W 3AT HFA UH HFd & UldFT H QU
GRE) 1

(G
\H?
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0

orrect Answer:

NE

Candidate Answer:

G

QID : 106 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg T gUoT F AB @1 W I@T AT, ar & T
I HGEAl A ¥ Fid @ FFpa uF JAeT H
e ufafasa aefr?
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F Uy dpladl # RE@W WgER FES @
Az D JUT el & ag I FT 3R JFA
s femrg gem?
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Options:
1)

2)

3)

4)

u]
[u]

Correct Answer:

o
u]

u]
[u]

Candidate Answer:

m ]
u]

u]
[u]

QID : 108 - What will come in place of question mark (?) in the given equation?
1621323218 =94
T T FHteRoT I g e (?) & TUTH IR T 3TTaT?

1621323218 =94
Options:

1) x, + and -

X, + a1 —

2) +, + and x

+, + dATX

3)+,—and +

+, -+

4) -, xand +

-, X AT +

Correct Answer: +, =+ and x
+, + AT X

Candidate Answer: [ NOT ANSWERED ]

QID:109-1f7+14—-2=1and 9 + 27 -3 = 1, then
3+39-13=2?
7 +14-2=1daw9+27-3 =178, ar

3+39-13=?
Options:

1)0

2)1

3)3

4)9

Correct Answer: 1
Candidate Answer: 1
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Racing

2. Rowing
3. Risking
4. Ranking
5. Rigging

TeFAaTEe Qreal T Qreeehier # 3T ATel el & TaR ford|

1. Racing
2. Rowing
3. Risking
4. Ranking
5. Rigging
Options:
1) 41352
2) 14352
3) 14532

4) 41532
Correct Answer: 14532
Candidate Answer: 14532

QID : 111 - In the following question, select the missing humber from the given series.
37,39,42,47,54,?
TerAfald weat & U a1v fashedl & § oo 37 AT HIioIv|

37,39,42,47,54,?
Options:

1) 60

2) 65

3)63

4) 69
Correct Answer: 65
Candidate Answer: 63

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
MO, PR, SU, ?
TS 3Tt T a1 8, foreet & v e ded §1 v 1w faewet 7 & 95 @ fawew giee, St snghe QU |

MO, PR, SU, ?

Options:
1) VW

2) WX
3) WY

4) VX
Correct Answer: VX
Candidate Answer: VX

QID : 113 - In the following question, select the odd word from the given alternatives.

TF=ATe e weat # U 10 fashodl & & fawar Usg &1 v
Options:

1) Feel

HEHH el

2) Smell

e

3) Taste

Brepi

4) Hands

d

Correct Answer: Hands

g

Candidate Answer: Hands

E
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QID : 114 - In the following question, select the odd number from the given alternatives.

TF=ATe e weat # U 1w fashout & & fawe dear &1 giw|

Options:
1) 25

2) 125
3) 625

4) 15625
Correct Answer: 125
Candidate Answer: 25

QID : 115 - In the following question, select the odd letters from the given alternatives.

TF=ATe e weat # U ¢ fashout & & fawer 37eRT I giav|

Options:
1)KJ

2) BA
3)FC

4) ED
Correct Answer: FC
Candidate Answer: FC

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
House, Family members, Road

a8 IRNG AT S o 0 91w gaif & ey & Faer a0 Fgy fFwaor e g

W, IRER ¥ FEH, T5F

Options:
1)

OO
O

eV,
O

3)

QD

4

@D

Correct Answer:

OO
O

Candidate Answer:

eV,
O
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QID : 117 - In the following question, select the related word from the given alternatives.

Wood : Oak : : Metal : ?
AT weat # 7T 10 fashoul & & Hefera esg &1 giav|

Y : T (AF) 1 U1 ?
Options:

1) Gold

|t

2) Oxygen

3iteFeiTe

3) Bromine

AT

4) Carbon

FraeT

Correct Answer: Gold

[T

Candidate Answer: Gold

g

QID : 118 - In the following question, select the related number from the given alternatives.
81:729::121:7?

TrAfafed weat & v a1v fashedl & & Heiftid dear &1 giav

81:729::121:?

Options:

1) 968

2) 144

3) 1000

4) 1331
Correct Answer: 1331
Candidate Answer: 1331

QID : 119 - In the following question, select the related letters from the given alternatives.
RTW : XZC::ACF:?

RrAfaf@d weat # U arv fashedt # @ Haiftra 3Rt &1 gfaw

RTW : XZC:: ACF:?

Options:

1) GHI

2) GHK

3) GIL

4) JKL
Correct Answer: GIL
Candidate Answer: GIL

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

FACSIMILE

Tt fashoul & & g5 oreg YA ST oT 37T 2reg; & 3R T TN 7eh AET =TT ST Hehell|
FACSIMILE

Options:

1) SMILE

2) MILES

3) COME

4) FACE
Correct Answer: COME
Candidate Answer: COME

QID : 121 - Present age of A is 56 years. 4 years hence ages of A and B will be in ratio 6 : 7. What is the present age (in years) of B?

A S AT 3T 56 a9 B| 4 I §1g A TUTB Y 3 6 : 7 % 3791l # M| B & acianaT 3y (avt &) a/am 2
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Options:
1) 64

2) 60
3) 66

4) 58
Correct Answer: 66
Candidate Answer: 58

QID : 122 - Uma walks 19 km towards north. She turns right and walks another 19 km. She turns right and walks another 19 km. In which direction is she from her
starting point?

ST ee 1 R 19 2. wrercll &1 98 i 3R gl & a2 19 .. 3R werchh §1 98 g 317 sl § a2 19 .. 3R Terdl §1 98 3r9e 3RS foeg ¥ e e
q?
Options:
1) West
afRes

2) North
EIid

3) South
aayor

4) East
qa

Correct Answer: East
g

Candidate Answer: East
g

LN

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some circle are toys.
II. Some green are circles.

Conclusions:
I. Some green are toys.
II. Some toys are circles.

A T 31T 9o 7 F5 F 3R 3% A 37 FUA W IR T fvh w10 §, gretifen 37067 Aot et aealt & feerar of ahc §1 T oy o3 31k fe
freifa &t fF R a1e wiq & oy, e o #emt & 3muR @ giFdaed 8

HYeT:
L. & god &l 81
IL $& & ged €1

fasay:

L %o g el g

I1. Fo el gt &1

Options:

1) Only conclusion (I) follows.

el sy (1) Fér

2) Only conclusion (II) follows.

Faer sy (I1) TEr &1

3) Both conclusion follow.

2l g1 fsehy @l g

4) Neither conclusion (I) nor conclusion (II) follows.
& ar sy (1) 7 & foss (11) wer &1

Correct Answer: Only conclusion (II) follows.

Faer ey (I1) TE &1

Candidate Answer: Only conclusion (II) follows.

Faer TS (I1) wé &1

QID : 124 - In a certain code language, "LUNCH" is written as "OFMXS". How is "TEARS" written in that code language?

T f3frse A5 9T 7, "LUNCH" &Y "OFMXS" for@r SiTaT §1 33 &1 81T 7 "TEARS" Y 59 yehR forar siroam?
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Options:
1) HIZVH

2) GVZIH
3) LHIVK

4) KTPQA
Correct Answer: GVZIH
Candidate Answer: GVZIH

QID : 125 - In a certain code language, "PHONE" is written as "64321" and "ROLL" is written as "7355". How is "PRONE" written in that code language?

s faflise Fs s7wr 7, "PHONE" &t "64321" q7 "ROLL" I "7355" f3@r S1aT §1 37 FIs 19T # "PRONE" & 5 YR for@r siream?
Options:
1) 67321
2) 45376
3) 12376

4) 67123
Correct Answer: 67321
Candidate Answer: 67321

QID : 126 - How many positive factors of 40 are there?

40 & A UTTES fFdw §?
Options:

1)6

2)5

3)8

4) 10
Correct Answer: 8
Candidate Answer: 8

QID : 127 - How many numbers are there from 300 to 390 which are divisible by both 5 and 7?

300 & 390 T VT forctsit H&aTE § ST 5 daT 7 gt & faenfard g 82

Options:

1)2

2)3

3)4

4)5

Correct Answer: 3
Candidate Answer: 3

QID: 128-
Which of the following statement(s) is/are true?

. 43587
0. 37517

raffe & 8 ol o/e suF g ¥
l. ‘{/5>§/'7
Il. 37 > 81

Options:

1)Only I

Fael

2) Only II

el 11

3) BothIand II

I a2 11 gt

4) Neither I nor II
FAITEIL

Correct Answer: Only II
el 11

Candidate Answer: Only II
Faer 11
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QID: 129 - If N = V11 — V3, then what is the value of (1/N)?

I N = V11 - V3 &, a (1/N) &7 #1eT F7 §?

Options:
1) (V3 -V11)/2

2) (V11 -+3)/8
3) (V11 + V3)/8

4) (V11 + 8v3)
Correct Answer: (V11 + V3)/8
Candidate Answer: [ NOT ANSWERED ]

QID : 130 - For what value of P, 225P9 is completely divisible by 9?

P & f3e AT & faIw 225P9, 9 & oid: fasnfora 872

Options:
1)1

2)0
3)3

4) 4
Correct Answer: 0
Candidate Answer: 0

QID : 131 - Which of the following statement(s) is/are true?

I (V7 + V9) > (V9 + V6)
IL. (V7 - V5) > (V6 — V3)

afaf@a 7 @ ®ia a/a Fu g7 §/87?

I (V7 + V9) > (V9 + V6)
IL. (V7 - V5) > (V6 — V3)
Options:

1) Only I

Hhael I

2) Only II

el 11

3) BothIand II

I 2T 11 =t

4) Neither I nor II
ANIALI

Correct Answer: Only I
Faer I

Candidate Answer: Only I
Fad

QID : 132 - Two pipes L and J can alone fill a tank in 12 hours and 15 hours respectively. Pipe P can alone empty the same tank in 20 hours. If all three pipes are
opened together, then in how many hours will the tank be filled?

&Y UTEY L AT J 37hel Teh &bl oY shaAQl: 12 & T 15 6 & 3 Tohl &1 T1$T P 3T &Y Y 37hell 20 & & @il X Tehell 1 IfE T Nt ardal &Y weh @rey @ier e
S, A o1 fohdet B¢ 7 9 Sei?

Options:

1) 10

2) 15

3)20

4) 12

Correct Answer: 10

Candidate Answer: 10

QID : 133 - A pipe can fill a tank in 12 hours. Due to the leak in its bottom, the tank is filled in 15 hours. If the tank is full, then that leak can empty the tank in how
many hours?

TS 9159 T T @1 12 °¢ H 3 TeheTT §| T T Tclg # TS5 8let & HROT, THI 1 8% 3 15 €€ oferd ¢ 1 IS S g 0181 g, A 7 o < &1 feedsy ¢ o @l
HHAT 872

Options:

1) 65

2)72

3)45

4) 60

Correct Answer: 60

Candidate Answer: 60
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QID : 134 - The ratio of the length and breadth of a rectangle is 3 : 4. If the perimeter of the rectangle is 140 cm, then what is the length (in cm) of the rectangle?

T T T TS AT =TS T 3171 3 @ 4 §1 I 3mara ohr oA 140 @7, B, A 3 &y ears (F.. 7) w2

Options:
1) 30

2) 50
3)35

4) 45
Correct Answer: 30
Candidate Answer: 30

QID : 135 - A profit of 30% is made after giving a discount of 10% on an article. If the marked price of the article is Rs 2730, then what is its cost price (in Rs)?

Teh G T 10% T Fe &4 & TR 30% T oA1eT §IclT | Afe; T 1 3iTehcd Hed 2730 & §, A 3HAT 56 F{od (T #) FA7 872

Options:
1) 2000
2) 1850
3) 2100
4) 1890

Correct Answer: 1890
Candidate Answer: 1890

QID : 136 - Akash purchased an article at a discount of 20% and sold it to Ram at 20% profit. What is the ratio between the marked price and the price for which
Ram purchased the article?

3T fHeY & Y 20% Y & TR GACT § FAT 38 TH H 20% & A R S &l § Hhed 7w T 0 Fed R AA 7 IFG 1 QT §, & FLT AT A1 F7 87
Options:

1)27:31

2)25:22

3)24:23

4)25:24

Correct Answer: 25 : 24

Candidate Answer: 25 : 24

QID : 137 - In what ratio a man must mix rice at Rs 12.30 per kg with rice at Rs 16.70 per kg so as to make a mixture worth Rs 14.40 per kg?

Teh Sfeel fohay 37egarel 3 12.30 % 9l foh.am. arel =rder Y 16.70 & it feh. 31T, aTel el & A1 fAey cTfeh 701 hr oA 14.40 T 9fd fh.am. g e
Options:

1)8:7

2)23:21

3)3:4

4H1:7

Correct Answer: 23 : 21

Candidate Answer: 23 : 21

QID : 138 - B starts a business with Rs 15000. After 6 months, D joins business by investing Rs 40000. At the end of the year, in what ratio will they share the
profit?

B, 15000 % &I Yoit e #eh Ueh SAIR IR Il & | 6 ATE & G D, 40000 & fAar T 38 TTaR & LAMTA & Sl &1 a¥ o 37T & dg ey 3fefure & ey §icar?

Options:

1)4:5

2)11:14

3)33:16

4)3:4

Correct Answer: 3 : 4
Candidate Answer: 3 : 4

QID : 139 - Average of 9 consecutive even numbers is 18. Which number is the smallest of the 9 numbers?

9 AT TH T3 F7 3T 18 §1 9 TEIATIT H T TI& TIET TEAT HisT TY §?

Options:
1)8

2) 10
3)12

4)6
Correct Answer: 10
Candidate Answer: 10
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QID : 140 - By selling 90 litres of petrol, a person losses the cost price of 30 litres of petrol. What is his loss percent?

90 SeX I IR T ATF Y 30 e Il o e Ao & SRIaT GIToT glell & | STHT g1iey TRt 7m &2

Options:
1) 18.18

2) 28.56
3) 33.33

4) 22.22
Correct Answer: 33.33
Candidate Answer: 33.33

QID : 141 - A sold a toy T.V. to B at a profit of 20%. B sold the T.V. to C at a profit of 15%. If C pays Rs 276 for T.V., then for how much (in Rs) A bought the
TV.?

AT BT 20% % of$T 9 Ueh [Weflelr .Y, s B C T 15% & oftet oX &, S| fe € &, & v 276 < gavran &, o A o vt (% #) & €., @lier ar?

Options:
1) 250
2) 200
3) 300
4) 320

Correct Answer: 200
Candidate Answer: 200

QID : 142 - A number is increased first by 10% and then it is again increased by 10%. What is the percentage change in the number?

Ueh HEAT T TE e 10% & FGTAT ST § F4T BT 3/ 10% & GoT: FGTEAT STl & FAT 3 fobetetr gfcierd aRaeler g3 &2
Options:

1) 21% increase

21% 1 afy

2) 21% decrease

21% T FHHAT

3) 20% increase

20% #1 g%

4) 19% increase

19% # 3fx

Correct Answer: 21% increase
21% #r gig

Candidate Answer: 19% increase

19% 1 IR

QID : 143 - L is 25% more than M. M is 20% less than N. N is 25% more than O. If O is 800, then what is the value of L?

L, M & 25% 31 &1 M, N & 20% &3 &1 N, O & 25% 311 g1 I O, 800 &, aY L T AT 47 82

Options:
1) 1000

2) 1200
3) 1150

4) 950
Correct Answer: 1000
Candidate Answer: 1200

QID : 144 - A 400 metre long train crosses an 800 metre long platform. If the speed of train 60 km/hr, then what is the time taken (in seconds) to cross the
platform?

TS 400 HeT T ITEMET, Teh 800 HreT e TThH IR ! &1 Tfe; YA 1 a1ty 60 .31, /8ier §, ar Coewny UR aa & e T (Jhvst ) o9rar 8?7
Options:

1) 80

2) 75

3)72

4) 85

Correct Answer: 72

Candidate Answer: 72

QID : 145 - Raman goes to a place at a speed of 7 km/hr and returns back at 3 km/hr. What is his average speed (in km/hr)?

T 7 o). /e Y A1 A U TUTT I AT § T 3 fohL A /e Y 1 & arad e 1 39 3iad afa (LA /g #) Fr e

Options:
1) 4.4
2)4.2
3)4.8
4)4
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Correct Answer: 4.2
Candidate Answer: 4.2

QID : 146 - The population of a country increases at the rate of 8% per annum. If the present population of the country is 58320, then what was the population 2
years ago?
T &3 Y SIAHEAT 3 8% 1 a1f¥ieh o W ghg BIel §1 AR 320 T IAAT SToTeiear 58320 B, af 2 I Uger G T Sfereear 41 Ar?

Options:
1) 15000
2) 500000
3) 50000
4) 180000

Correct Answer: 50000
Candidate Answer: 50000

QID: 147 -
The line chart given below shows the sales (in
thousands) of company A from year 2008 to 2014.

& fow o7 T Ry & o 2008 @ 2014 I U A
#r fEhr (g=t &) @ gotar ¥

450 -
- 400
g _ 400 380
b E 350 -
é E 300 -
T = 2501
: g 200 A
2 150 -
» 100 -
50
0 .
[o0) [e)] =) ~— N ™ <
o o =~ = - o g =
[ew] o o o o o o
N N N N (9] N N
Year /9%

What is the percentage change in sales from year 2008 to year 2011?

ay¥ 2008 ¥ a¥ 2011 T fshr & ufaera gRadsT a7 &2

Options:
1) 125

2)75
3) 135

4) 130
Correct Answer: 125
Candidate Answer: 125

Download More PaperéFrom GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID: 148 -
The line chart given below shows the sales (in
thousands) of company A from year 2008 to 2014.

& ffm o7 Tar Ry & a¥ 2008 & 2014 IF & A
#r fhr (g=t &) @ gotar T ¥

450 -
- 400
§ 400 1 380
b E 350 -
§ E 300 -
E — 250 -
» E 200 -
= 150 -
» 100 A
50 -
0 :
«Q N o - N (sp] <
o o = = -— - -
=) (o] o o= | o o o
N N N N N N N
Year /9§

What is the average sales (in thousands) from year 2008 to year 2014?

a¥ 2008 & a¥ 2014 deh 3 f9shr (goRt &) &/ &2

Options:
1) 276

2) 280
3) 286

4) 278
Correct Answer: 278
Candidate Answer: [ NOT ANSWERED ]

Download More PaperéFrom GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID: 149 -
The line chart given below shows the sales (in
thousands) of company A from year 2008 to 2014.

e ’m ar T B A a¥ 2008 ® 2014 I FHUer A
#r fhr (g=t &) @ gotar T ¥

450 -
-~ 400
§ 400 - 380
b E 350 -
§ E 300 -
E — 250 -
: E 200 -
= 150 -
» 100 A
50 -
0 :
«Q N o - N (sp] <
o o - T - - -
=) (o] o o= | o o o
N N N N N N N
Year /9§

During how many years the sales was more than 320 thousand?

forcter aut & elreT f9shr 320 goiR & 310 oi?

Options:
1)3

2)4
3)5

4)0
Correct Answer: 3
Candidate Answer: 5
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QID : 150 -
The line chart given below shows the sales (in
thousands) of company A from year 2008 to 2014.

e o o rar B # a¥ 2008 ® 2014 I FHUEr A
#r fhr (g=t &) @ gotar T ¥

450 -
400
350
300
250 H
200 +
150 A
100 -
50

0

400 380

1

1

Sales (inthousands)
fashr (g a¥)

1

2012
2013
2014

T
-—
-
N

2008 -
2009 -
2010

Year /a¥

What is the difference (in thousands) between second highest sales year and the least sales year?

gAY Faw 37fte fSehr arer av T e F ST arel a¥ F ALT AR (GIRT H) FATR?

Options:
1) 280

2) 150
3) 260

4) 200
Correct Answer: 260
Candidate Answer: 260

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The regime clear a floor test as a (1)/ result, the courts can still set (2)/ aside the disqualification. (3)/ No error (4)
Options:

1)1

2)2

3)3

4) 4
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Thereby, necessitate a fresh (1)/ test in the basis of (2)/ the original strength. (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]
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QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I went to congratulate my cousin his success in GMAT.
Options:
1) for

2) at
3)in

4) over
Correct Answer: for
Candidate Answer: over

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Japan as well as Philippines
Options:
1) were

hit by an earthquake.

2) have
3) was

4) are
Correct Answer: was
Candidate Answer: was

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Tempest

Options:

1) Calm

2) Quiet

3) Stillness

4) Storm
Correct Answer: Storm
Candidate Answer: Calm

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Vintage

Options:

1) Inferior

2) Classic

3) Minor

4) Fresh
Correct Answer: Classic
Candidate Answer: Inferior

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Tinsel

Options:

1) Plain

2) Simple

3) Unflashy

4) Garnish
Correct Answer: Garnish
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Defuse
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Options:
1) Disarm

2) Diminish
3) Lessen

4) Agitate
Correct Answer: Agitate
Candidate Answer: Lessen

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Thwart

Options:
1) Assist

2) Linder
3) Check

4) Confuse
Correct Answer: Assist
Candidate Answer: Assist

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Copious

Options:

1) Scarce

2) Abundant

3) Ample

4) Plenty
Correct Answer: Scarce
Candidate Answer: Ample

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Hit the jackpot

Options:

1) To find exactly what was sought

2) In favour of both sides

3) To help someone silently

4) The evil intension
Correct Answer: To find exactly what was sought
Candidate Answer: To find exactly what was sought

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To bring to light

Options:

1) To switch on

2) To remove strains on something

3) To reveal

4) To be able to look beautiful
Correct Answer: To reveal
Candidate Answer: To reveal

QID : 163 - Improve the bracketed part of the sentence.

The problem is most acute for exporters, (from whom) the Council has now formed a special committee under the Revenue Secretary.
Options:

1) for who

2) from who

3) for whom

4) No improvement
Correct Answer: for whom
Candidate Answer: from who
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QID : 164 - Improve the bracketed part of the sentence.

An ever-changing policy landscape is (hard) conducive for attracting investment.
Options:

1) harding

2) hardly

3) hard-on

4) No improvement
Correct Answer: hardly
Candidate Answer: hardly

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.
Literary theft.

Options:

1) Absenteeism

2) Plagiarism

3) Academicism

4) Adventurism
Correct Answer: Plagiarism
Candidate Answer: Plagiarism

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.
One who speaks on behalf of others.

Options:

1) Salesman

2) Spokesman

3) Chairman

4) Superman
Correct Answer: Spokesman
Candidate Answer: Salesman

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Haorizontal

2) Horizonetal

3) Horizontal

4) Horisontal
Correct Answer: Horizontal
Candidate Answer: Horizonetal

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Inconvenience

2) Inconwenience

3) Inconveneince

4) Inconvineince
Correct Answer: Inconvenience
Candidate Answer: Inconvenience

QID : 169 - Rearrange the parts of the sentence in correct order.
The economic development plans
P: of energy to remain operational

Q: necessarily required increasing amount
R: and implemental since independence

Options:
1) PQR

2) RQP
3) QPR

4) PRQ
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Correct Answer: QPR
Candidate Answer: PRQ

QID : 170 - Rearrange the parts of the sentence in correct order.

Salina was

P: summer camp she
Q: excited about the
R: was attending

Options:
1) QPR

2) RPQ
3) PQR

4) PRQ
Correct Answer: QPR
Candidate Answer: QPR

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Women should be given equal opportunity in education like men and they should not be from any development activities. Women cover almost half the
population of the country which means if women are uneducated half of the country is uneducated which bring poor condition. Through the women
education the social and economic development will be in India. To spread the importance and improve the level of women education all over the country,
countrywide national propaganda and awareness programmes are very . An educated woman can educate her family and thus whole country.
should notbe _______ from

Options:

1) isolated

2) included

3) incorporated

4) publicised
Correct Answer: isolated
Candidate Answer: publicised

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Women should be given equal opportunity in education like men and they should not be from any development activities. Women cover almost half the
population of the country which means if women are uneducated half of the country is uneducated which bring poor condition. Through the women
education the social and economic development will be in India. To spread the importance and improve the level of women education all over the country,
countrywide national propaganda and awareness programmes are very . An educated woman can educate her family and thus whole country.
bring poor condition.

Options:

1) socio-politico
2) socio-economic
3) politico-socio

4) politico-communal
Correct Answer: socio-economic
Candidate Answer: socio-economic

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Women should be given equal opportunity in education like men and they should not be from any development activities. Women cover almost half the
population of the country which means if women are uneducated half of the country is uneducated which bring poor condition. Through the women
education the social and economic development will be in India. To spread the importance and improve the level of women education all over the country,
countrywide national propaganda and awareness programmes are very . An educated woman can educate her family and thus whole country.
development will be in India.

Options:

1) bigger

2) faster

3) slower

4) pace

Correct Answer: faster
Candidate Answer: pace
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QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Women should be given equal opportunity in education like men and they should not be from any development activities. Women cover almost half the
population of the country which means if women are uneducated half of the country is uneducated which bring poor condition. Through the women
education the social and economic development will be in India. To spread the importance and improve the level of women education all over the country,
countrywide national propaganda and awareness programmes are very . An educated woman can educate her family and thus whole country.

programmes are very
Options:
1) inessential

2) useless
3) necessary

4) ordinary
Correct Answer: necessary
Candidate Answer: inessential

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Women should be given equal opportunity in education like men and they should not be from any development activities. Women cover almost half the
population of the country which means if women are uneducated half of the country is uneducated which bring poor condition. Through the women
education the social and economic development will be in India. To spread the importance and improve the level of women education all over the country,
countrywide national propaganda and awareness programmes are very . An educated woman can educate her family and thus whole country.

educate her family
Options:
1) part

2) some
3) whole

4) incomplete
Correct Answer: whole
Candidate Answer: incomplete

QID : 176 - Which of the following sectors have some formal processes and procedures?

FEAfafed & & et & & $o 3ioerRer TRhaTe oum HEVomeT gic 82
Options:

1) Unorganised sector

i &

2) Organised sector

Harfea &

3) Both organised and unorganised sector

HaTfsa aum rerfad aer &1

4) Neither organized nor unorganised sector

o Y GIfSa aur 7 IEeIfSa &

Correct Answer: Organised sector

Farfea &

Candidate Answer: Both organised and unorganised sector

Farfsa aUT eTfod aer &1
QID : 177 - Which one of the following is correct?

T & q PleT 1 T 8?7

Options:

1) Income of bank = Interest charged from borrowers + interest paid to depositors
dF Y 3T = IURSAIT T T IT SATST + STHATRATIT Y T I AT

2) Income of bank = Interest charged from borrowers x interest paid to depositors
dF Y 31T = SURSAIT T T IT SATST x STHATRATIN Y T I AT

3) Income of bank = Interest charged from borrowers =+ interest paid to depositors
o T 3T = IURHATT T FoIT 317 ST + STATHRATIT Y AT IR ST

4) Income of bank = Interest charged from borrowers — interest paid to depositors
d T 3T = IURSATT T FOIT 317 ST — FTATRATHT T T 17 =TS

Correct Answer: Income of bank = Interest charged from borrowers — interest paid to depositors
d Y 31T = IURSAIT T FoT 3127 SIS — FTATRATT v T AT ;ST

Candidate Answer: [ NOT ANSWERED ]

QID : 178 - What is the total strength of (Council of state) Rajya Sabha of India?

IR & T THT H Fel el HeT &2

Download More Paper&From GovtJobsAlert.In



_ Download More Papers From GovtJobsAlert.In
(:;);:%ns.
2) 275
3) 258
4) 260
Correct Answer: 245

Candidate Answer: 245

QID : 179 - When did Indian constitution came into effect?

HRET HIUTT el A ] §3?
Options:

1) 26% November 1949

26 sTaFaY 1949

2) 26t January 1950

26 STeTadr 1950

3) 15t August 1950

15 37TEdT 1950

4) 15t August 1949

15 37TEdT 1949

Correct Answer: 26" January 1950
26 SteTa’r 1950

candidate Answer: 26! January 1950
26 Stea’T 1950

QID : 180 - In which battle against Mysore the East India Company ultimately win a victory?

A & Tave 0 g & St 337 shuel o 3nfeReR faerer uree & o
Options:

1) First Anglo-Mysore War

2) Second Anglo-Mysore War

GHT - I8

3) Third Anglo-Mysore War

4) Fourth Anglo-Mysore War

Correct Answer: Fourth Anglo-Mysore War

Candidate Answer: Fourth Anglo-Mysore War

QID : 181 - How many volumes of history of Akbar’s reign were written by Abul Fazl?

I Totel GART HehaT & ATHA & $Tcigrd @1 el foies; foredy a1$ e

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 3
Candidate Answer: 2
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QID: 182 -
Match the following.

frrafafa & feme Hifao)
Zone / Temperature condition /
as anane fRufy
A. Torrid Zone 1. Moderate Temperature
3T0T & HIH JUATH
B. Temperate Zone 2. Very cold
gaMNESoT &y e 3=
C. Frigid Zone 3. Maximum Heat
3 av = a1
Options:
1) A-2,B-1,C-3
2) A-1, B-3,C2
3) A-3,B-1,C-2
4) A-3,B-2, C-1

Correct Answer: A-3, B-1, C-2
Candidate Answer: A-3, B-1, C-2

QID : 183 - What are the mountains arranged in a line called?

Teh @7 H ST TTST T FIT gl STl &7
Options:

1) Plateau

o

2) Peak

arér

3) Range

9T el

4) Plains

HereT

Correct Answer: Range
TdT e

Candidate Answer: Range

ade @
QID : 184 - The molecule used by most animals for long term energy storage is

gl

AT St $1ERUT & AT 37fRier SeTert GaRT SEATer 379
Options:

1) vitamin

erfaa

2) fat

qdr

3) cholesterol

et

4) roughage

URT

Correct Answer: fat
qdar

Candidate Answer: fat
gar

QID : 185 - Phenylmercuric acetate .

SRR wite |
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Options:
l)pReduces transpiration rate
TSI &Y HH FT &
2) Increases transpiration rate
arsUlcESie &X FoTaT §
3) Kills the plant
Y Rl ARAT
4) Reduces respiration
QT HH HIAT &

Correct Answer: Reduces transpiration rate

ATSYCHSNT &3 HH PAT &

Candidate Answer: Reduces transpiration rate

AT &X el T §

QID : 186 - Deformed bones are associated with which disease?

Rt 3t e T & Wit 82
Options:

1) Cholera

g

2) Scurvy

T

3) Anemia

weAfAT

4) Rickets

e

Correct Answer: Rickets

Repcq

Candidate Answer: Rickets

Rehed

QID : 187 - Momentum has the same units as that of .

afa & F GHTT SHEAT
Options:

1) impulse

33T

2) force

el

3) acceleration

cadouT

4) speed

afa

Correct Answer: impulse

3TaT

Candidate Answer: acceleration
caRoT

QID : 188 - One joule is approximately equal to .

T ST SIS & SR e 81
Options:

1) 0.28 calorie

0.28 ey

2) 54 calorie

54 Sy

3) 0.24 calorie

0.24 ey

4) 42 calorie

42 FHARY

Correct Answer: 0.24 calorie

0.24 ey
Candidate Answer: [ NOT ANSWERED ]

QID : 189 - What is the pictorial representation of algorithm called?

ToaNRUH &l HfA FAEI0T &1 FHgelrall 82

Download More Paper&From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:

1) Image

IE

2) Graph

dqTH

3) Flow chart

vaTg e

4) Design

[ESIED)

Correct Answer: Flow chart
gaTg IIE

Candidate Answer: Flow chart
9aTg a1c

QID : 190 - Which of the following acids is called the king of the acids?

AFATAfld & @ e 31eT &1 3Fal &7 TSI T AT 67
Options:

1) Carbonic acid

Fraffaen e

2) Phosphoric acid

HIERING HFeT

3) Nitric acid

Arsfeh 3rFer

4) Sulphuric acid

HEFGRH 3l

Correct Answer: Sulphuric acid
TorG R 3

Candidate Answer: Sulphuric acid

HFIRE 35

QID : 191 - Members of which of the following have similar chemical properties?

el & & freeh Fedl # GATT IS 707 gid §?
Options:
1) Isotope

EIES LT

2) Isobars

TR

3) Isotones

JgEeT

4) All options are correct
|t fadheT AeT &

Correct Answer: Isotope
EIEICE]

Candidate Answer: All options are correct

Tl Ao T &

QID : 192 - Which among the following constitute the upper part of aquatic ecosystem?

TrFfaf@d & & &l el IIRREAfAET a7 &1 ST FET a1 872
Options:

1) Fishes

Foforar

2) Planktons

Coldsh

3) Algae

arer

4) Crustaceans

Fache

Correct Answer: Planktons
Celdsh

Candidate Answer: Algae
darer

QID : 193 - Which among the following is a nationwide campaign for achieving universal accessibility for persons with disabilities?

ﬁmﬁ@aﬁ#ﬁamﬁwﬁmﬁﬁ*ﬁvﬁﬁ%qﬁﬂmmﬁﬁvwm?
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ptions:

1) Deendayal Disabled Rehabilitation Scheme

2) Manual Scavenging Act

T | TS HT FleleT

3) Sugamya Bharat Abhiyan

QI AR TG

4) Integrated Disabled Development Services

g faherer faehre dare

Correct Answer: Sugamya Bharat Abhiyan

QI AR I

Candidate Answer: Deendayal Disabled Rehabilitation Scheme

EreTe el TareheliaT GoTaliey Trefell
QID : 194 - Who invented Polio Vaccine?

qifer3t derelieT 1 @iet foraet dI?
Options:

1) Ernest Rutherford

T TS

2) Jonas E. Salk

ST §. FToh

3) Richard Taylor

RN e’

4) Karl Jansky

el ST

Correct Answer: Jonas E. Salk
AT §. Aok

Candidate Answer: Jonas E. Salk

AT §. ATesh

QID : 195 - Who among the following is associated with Badminton?

FPfaf@a & @ Fia Ssffca a gefta &2
Options:

1) R.S. Brar

3. TH. SR

2) Leander Paes

fosT 9w

3) Prakash Padukone

T TegehIoT

4) Jaspal Rana

STHYTe 70T

Correct Answer: Prakash Padukone

TN TegehloT

Candidate Answer: Prakash Padukone

T 5
QID : 196 - The figures of the Mathura school of arts were made of

YW Fell faegrery 1 gt 1§ gl T
Options:

1) Marble

HIFAT

2) Bricks

&

3) Spotted red stones

HSIER Tl T

4) Granite

ITrgT

Correct Answer: Spotted red stones
g ol 92X

Candidate Answer: Spotted red stones

IER ool TR

QID : 197 - Who won the best actress award in the 64t National film award?

64-al TSET e PR & HEATS AT T [EhR ot 2r?
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Options:

1) Priyanka chopra

TrgepT @gaT

2) Alia Bhatt

suferar #1g

3) Surabhi Lakshmi

el oA

4) Daizy Shah

EEINE

Correct Answer: Surabhi Lakshmi
el e

Candidate Answer: Surabhi Lakshmi

et o

QID : 198 - Who is the author of book named "Voice of Conscience"?

I 31Tt Fleed" ATHS JETH & AGH Piet 67
Options:
1) Indira Gandhi
Sfex amelr
2) Satyajit Ray
Hegeha ¥
3) Kiran Bedi
foRvoT 91
4) V. V. Giri
4, ar. Rk
Correct Answer: V. V. Giri
ar. 4. Rk

Candidate Answer: [ NOT ANSWERED ]

QID : 199 - What is the name of bilateral maritime exercises held between navies of India and Oman?

AR 3R AT T QAT & Srer T efaaeiia ST 3=are 7 A1 T 82
Options:

1) Naseem Al-Bahr

FHH 3HeT-TX

2) Al-Nagah

3eT-AdTg

3) Druzhba

gotam

4) Khanjar

TR

Correct Answer: Naseem Al-Bahr

FHH 3T-TeT

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - Who brokered the Indus Water Treaty between India and Pakistan?

R 3R T & drer R STer ey Y FeEYar R B o
Options:

1) World Bank

[CREKED

2) International Monetary Fund

FHASET HaT Iy

3) World Trade Organisation

aeg AR Heroed

4) World Health Organisation

Taeg TaTeey Hetos

Correct Answer: World Bank

e d

Candidate Answer: World Trade Organisation
399 IR Tt
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